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FACULTY OF HUMANITIES

M.A. (External) (First Year)EXAMINATION

NOVEMBER/DECEMBER, 2023

ECONOMICS

Paper-I

(Micro-Economics)

(Tuesday, 5-12-2023) Time : 10.00 a.m. to 1.00 p.m.

Time—3 Hours Maximum Marks—100

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(i)

(ii)

1. Write answer of any one question from the following in detail : 20

(a) Explain the nature and scope of Micro-Economics.

(b) What is Utility ? Explain the law of diminishing marginal utility.

3CE86CFB407D2B1FF11F9ECA92054373
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WT (    2    ) JR—10—2023

2. Write answer of any one question from the following in detail : 20

(a) What is indifference cruve ? State the characteristics of indifference

curve.

(b) Critically examine the Revealed preference theory.

3. Write answer of any one question from the following in detail : 20

(a) State the law of variable proportion.

(b) Discuss in detail the concepts of cost of production.

4. Write answer of any one question from the following in detail : 20

(a) What is the perfect competition ? State the characteristics of perfect

competition.

(b) Explain the Cournot’s dupoly model.

3CE86CFB407D2B1FF11F9ECA92054373
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P.T.O.

5. Write short notes on any two from the following : 20

(a) Kinked demand curve

(b) Quasi Rent

(c) Liquidity preference theory of interest

(d) New Welfare Economics.
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